

## INEQUALITIES FOR WEIGHTED SUMS OF POWERS AND THEIR APPLICATIONS

EDWARD NEUMAN

(Communicated by Hari M. Srivastava)

*Abstract.* Two inequalities for weighted sums of powers are established. Applications to Jacobian elliptic functions and Legendre’s elliptic integrals of the first kind are presented. Some known and new inequalities for circular and hyperbolic functions are obtained. Applications to certain iterative means including Gauss’ arithmetic-geometric mean and Schwab-Borchardt mean are included.

### 1. Introduction

In recent years several researchers have obtained new inequalities for the trigonometric and hyperbolic functions. See [5], [6], [10], [16], [17] and the references therein. Also, there is an interest in the study of inequalities involving other classes of elementary functions and the the higher transcendental functions as well. In this paper we demonstrate that some inequalities involving Jacobian elliptic functions, Legendre’s elliptic integrals of the first kind, circular and hyperbolic functions, Gauss’ arithmetic-geometric mean and Schwab-Borchardt mean all follow from two inequalities proven in this paper.

This paper is a continuation of the author’s earlier investigations reported in [5, 6, 7, 10], and is organized as follows. Assumptions and lemmas are given in Section 2. Two inequalities (3.1) and (3.8) for weighted sums of powers of two numbers are established in Section 3. Applications of these results to inequalities for functions and means mentioned in the previous paragraph are given in Section 4.

Research presented in this paper was partially inspired by the following result of S.-H. Wu and H.M. Srivastava [16]:

**THEOREM 1.1.** *Let  $0 < x < \frac{\pi}{2}, \lambda > 0, \mu > 0$  and  $p \leq \frac{2q\mu}{\lambda}$ . Then for  $q > 0$  or  $q \leq \min \left\{ -\frac{\lambda}{\mu}, -1 \right\}$ , the following inequality*

$$1 < \frac{\lambda}{\mu + \lambda} \left( \frac{\sin x}{x} \right)^p + \frac{\mu}{\mu + \lambda} \left( \frac{\tan x}{x} \right)^q$$

*holds true.*

*Mathematics subject classification* (2010): Primary: 26D15, 33E05, 26D05, 26D07.

*Keywords and phrases:* Inequalities, Jacobian elliptic functions, Legendre’s elliptic integrals of the first kind, circular and hyperbolic functions, Gauss’ arithmetic-geometric mean, Schwab-Borchardt mean.

## 2. Preliminaries

In what follows the letters  $u$  and  $v$  will stand for two positive numbers which satisfy the following conditions

$$\min(u, v) < 1 < \max(u, v), \quad (2.1)$$

$$1 < u^\alpha v^\beta, \quad (2.2)$$

and

$$1 < \frac{\alpha}{\alpha + \beta} \frac{1}{u} + \frac{\beta}{\alpha + \beta} \frac{1}{v}, \quad (2.3)$$

where the last two inequalities must be satisfied for some positive numbers  $\alpha$  and  $\beta$ .

With  $w_1 = \alpha/(\alpha + \beta)$  and  $w_2 = \beta/(\alpha + \beta)$  one can easily verify that the conditions (2.2) and (2.3) can be combined and written as a two-sided inequality

$$H(w_1, w_2; u, v) < 1 < G(w_1, w_2; u, v),$$

where  $H$  and  $G$  are the weighted harmonic and geometric means, respectively, of  $u$  and  $v$ .

For later use let us record two results.

LEMMA 2.1. ([10]) *Let  $r$  and  $s$  be positive unequal numbers. If  $1 < rs$ , then*

$$\frac{1}{r} + \frac{1}{s} < r + s.$$

LEMMA 2.2. ([6]) *Let  $r$  and  $s$  be the same as in Lemma 2.1 and let the positive number  $\gamma$  and  $\delta$  satisfy  $\gamma + \delta = 1$ . If*

$$1 < \gamma \frac{1}{r} + \delta \frac{1}{s} < \gamma r + \delta s, \quad (2.4)$$

then for  $p \geq 1$

$$1 < \gamma \frac{1}{r^p} + \delta \frac{1}{s^p} < \gamma r^p + \delta s^p. \quad (2.5)$$

The second inequality in (2.5) holds true if  $p > 0$ .

## 3. Inequalities for Weighted Sums of Powers

The goal of this section is to establish two inequalities which involve two positive numbers  $u$  and  $v$ . In what follows we will assume that they satisfy conditions (2.1)–(2.3).

Our first result reads as follows.

THEOREM 3.1. *Let  $\lambda > 0$  and  $\mu > 0$ . If  $u < 1 < v$ , then*

$$1 < \frac{\lambda}{\lambda + \mu} u^p + \frac{\mu}{\lambda + \mu} v^q \quad (3.1)$$

if either

$$q > 0 \quad \text{and} \quad p \leq q \frac{\alpha\mu}{\beta\lambda} \quad (3.2)$$

or if

$$p \leq q \leq -1 \quad \text{and} \quad \beta\lambda \geq \alpha\mu. \quad (3.3)$$

If  $v < 1 < u$ , then the inequality (3.1) holds true if either

$$p > 0 \quad \text{and} \quad q \leq p \frac{\beta\lambda}{\alpha\mu} \quad (3.4)$$

or if

$$q \leq p \leq -1 \quad \text{and} \quad \alpha\mu \geq \beta\lambda. \quad (3.5)$$

*Proof.* We shall establish (3.1) only when  $u < 1 < v$ . Let

$$d = \frac{\lambda}{\lambda + \mu} u^p + \frac{\mu}{\lambda + \mu} v^q.$$

Application of the inequality of weighted arithmetic and geometric means gives

$$d^{\lambda+\mu} \geq u^{p\lambda} v^{q\mu}. \quad (3.6)$$

It follows from (2.2) that  $v > u^{-\alpha/\beta}$ . Assume that  $q > 0$ . Then  $v^{q\mu} > u^{-q\mu\alpha/\beta}$ . This and (3.6) give

$$d^{\lambda+\mu} > u^{p\lambda} u^{-q\mu\alpha/\beta} = u^{p\lambda - q\mu\alpha/\beta} \geq 1,$$

where the last inequality follows from  $0 < u < 1$  and the second condition in (3.2).

We shall establish now the inequality (3.1) when conditions (3.3) are satisfied. Since  $0 < u < 1$  and  $p \leq q < 0$ ,  $u^p \geq u^q$ . Again, let  $d$  stand for the right side of (3.1). Then

$$d \geq \frac{\lambda}{\lambda + \mu} u^q + \frac{\mu}{\lambda + \mu} v^q.$$

Let us write this inequality in the form

$$d \geq \frac{\lambda}{\lambda + \mu} \left(\frac{1}{u}\right)^{-q} + \frac{\mu}{\lambda + \mu} \left(\frac{1}{v}\right)^{-q}. \quad (3.7)$$

It follows from (2.3) that

$$\frac{1}{u} > 1 + \frac{\beta}{\alpha} \left(1 - \frac{1}{v}\right) = 1 + \frac{\beta}{\alpha}(1 - a),$$

where  $a = 1/v$ . Thus  $0 < a < 1$ . Since  $-q > 0$ ,

$$\left(\frac{1}{u}\right)^{-q} > \left(1 + \frac{\beta}{\alpha}(1 - a)\right)^{-q}.$$

This in conjunction with (3.7) yields

$$d > \frac{\lambda}{\lambda + \mu} \left(1 + \frac{\beta}{\alpha}(1-a)\right)^{-q} + \frac{\mu}{\lambda + \mu} a^{-q} =: f(a).$$

Differentiation of  $f(a)$  gives

$$f'(a) = \frac{q\mu}{\lambda + \mu} \left(1 + \frac{\beta}{\alpha}(1-a)\right)^{-q-1} a^{-q-1} \left[ \frac{\beta\lambda}{\alpha\mu} a^{q+1} - \left(1 + \frac{\beta}{\alpha}(1-a)\right)^{q+1} \right] \leq 0,$$

where the last inequality follows from

$$\frac{\beta\lambda}{\alpha\mu} a^{q+1} \geq 1 \geq \left(1 + \frac{\beta}{\alpha}(1-a)\right)^{q+1}.$$

Thus the function  $f(a)$  is decreasing on the interval  $(0, 1)$ . This in conjunction with  $\lim_{a \rightarrow 1^-} f(a) = 1$  yields  $d > 1$ . This completes the proof when  $u < 1 < v$ . The assertion when  $v < 1 < u$  can be established in a similar way. We omit further details. The proof is complete.  $\square$

We shall now prove the following.

**THEOREM 3.2.** *Let  $\alpha \geq 1$  and  $\beta \geq 1$ . Then for  $p \geq 1$*

$$2 < \left(\frac{1}{u}\right)^{\alpha p} + \left(\frac{1}{v}\right)^{\beta p} < u^{\alpha p} + v^{\beta p}. \quad (3.8)$$

The second inequality in (3.8) holds true for  $p > 0$ .

*Proof.* First we shall prove (3.8) when  $p = 1$ . Assume that  $v < 1 < u$ . Then (2.3) can be written as

$$\frac{1}{v} > 1 + \frac{\alpha}{\beta} \left(1 - \frac{1}{u}\right).$$

This in turn implies that

$$\begin{aligned} \left(\frac{1}{u}\right)^{\alpha} + \left(\frac{1}{v}\right)^{\beta} &> \left(\frac{1}{u}\right)^{\alpha} + \left(1 + \frac{\alpha}{\beta}(1-a)\right)^{\beta} \\ &= a^{\alpha} + \left(1 + \frac{\alpha}{\beta}(1-a)\right)^{\beta} =: f(a), \end{aligned}$$

where  $a = 1/u$ . Thus  $0 < a < 1$ . We shall demonstrate now that  $f(a) > 2$  holds for all  $a \in (0, 1)$ . Differentiation of  $f(a)$  with respect to  $a$  gives

$$f'(a) = \alpha \left[ a^{\alpha-1} - \left(1 + \frac{\alpha}{\beta}(1-a)\right)^{\beta-1} \right].$$

Since  $0 < a < 1 < 1 + (\alpha/\beta)(1 - a)$  and  $\alpha, \beta \geq 1$ ,  $f'(a) < 0$  for  $0 < a < 1$ . Taking into account that  $\lim_{a \rightarrow 1^-} f(a) = 2$ , we conclude that  $f(a) > 2$ . This completes the proof of the first inequality in (3.8). In order to establish the second one we apply Lemma 2.1 with  $r = u^\alpha$  and  $s = v^\beta$ . In order to establish (3.8) for values of  $p$  as stated in Theorem 3.2 we apply Lemma 2.2 with  $\gamma = \delta = 1/2$  and  $r$  and  $s$  as defined at the end of the proof when  $p = 1$ . The case  $u < 1 < v$  can be established in an analogous manner. This completes the proof.  $\square$

### 4. Applications

In this section we present several applications of two theorems established in the previous section. We begin with

#### 4.1. Applications to Jacobian elliptic functions

Let  $0 < k < 1$  be the modulus of Legendre’s complete elliptic integral of the first kind

$$K = \int_0^1 \frac{dw}{\sqrt{(1 - w^2)(1 - k^2w^2)}}. \tag{4.1}$$

In what follows we will assume that the variable  $x$  satisfies  $0 < |x| \leq K$ . The Jacobian version of Legendre’s incomplete elliptic integral of the first kind is

$$x = \int_0^{sn(x)} \frac{dw}{\sqrt{(1 - w^2)(1 - k^2w^2)}}, \tag{4.2}$$

where  $sn(x) \equiv sn(x, k) \equiv sn$  is one of the twelve Jacobian elliptic functions (see, e.g., [11], [4], [14]). Other Jacobian elliptic functions used in this paper are

$$sc = \frac{sn}{cn}, \quad sd = \frac{sn}{dn},$$

where  $cn$  and  $dn$  are subordinate functions of  $sn$  and they satisfy fundamental identities

$$sn^2 + cn^2 = 1, \quad k^2sn^2 + dn^2 = 1 \tag{4.3}$$

(see, e.g., [11, Ch. 22]).

For later use we define

$$u = \frac{sn(x)}{x}, \quad v = \frac{sc(x)}{x dn(x)}. \tag{4.4}$$

It is known that  $0 < u < 1 < v$ .

We need the following.

PROPOSITION 4.1. *Let  $u$  and  $v$  be defined in (4.4). Then*

$$1 < u^2v \tag{4.5}$$

and

$$1 < \frac{2}{3} \frac{1}{u} + \frac{1}{3} \frac{1}{v}. \quad (4.6)$$

*Proof.* Inequality (4.5) is established in [5, (3.12)]. For the proof of (4.6) it suffices to show that the second inequality in

$$3 < \frac{x}{sn(x)} + \frac{x}{sc(x)} + \frac{x}{sd(x)} < 2 \frac{x}{sn(x)} + \frac{xdn(x)}{sc(x)} \quad (4.7)$$

holds true where the first one is established in [5, (3.11)]. The second inequality in (4.7) can be written as

$$\frac{x}{sn(x)} (1 + cn(x) + dn(x)) < \frac{x}{sn(x)} (2 + cn(x)dn(x)). \quad (4.8)$$

Thus in order to obtain the second inequality in (4.7) we have to show that

$$cn(x) + dn(x) < 1 + cn(x)dn(x). \quad (4.9)$$

Using (4.3) we obtain

$$(cn(x) + dn(x))^2 = 2 - (1 + k^2)sn^2(x) + 2cn(x)dn(x)$$

and also that

$$(1 + cn(x)dn(x))^2 = 2 - (1 + k^2)sn^2(x) + 2cn(x)dn(x) + k^2sn^4(x).$$

Comparing the right sides of the last two expressions we see that

$$(cn(x) + dn(x))^2 < (1 + cn(x)dn(x))^2.$$

Since  $cn(x) + dn(x) > 0$  and  $1 + cn(x)dn(x) > 0$  for  $0 \leq |x| \leq K$ , the inequality (4.9) follows. This in turn implies the validity of the inequality (4.8). Hence the assertion follows. The proof is complete.  $\square$

With  $u$  and  $v$  as defined in (4.4) we see, using Proposition 4.1, Theorem 3.1 and Theorem 3.2, that the following results are valid.

**COROLLARY 4.2.** *Let  $\lambda > 0$  and  $\mu > 0$ . If either  $q > 0$  and  $p \leq 2q \frac{\mu}{\lambda}$  or if  $p \leq q \leq -1$  and  $\lambda \geq 2\mu$ , then*

$$1 < \frac{\lambda}{\lambda + \mu} \left( \frac{sn(x)}{x} \right)^p + \frac{\mu}{\lambda + \mu} \left( \frac{sc(x)}{xdn(x)} \right)^q. \quad (4.10)$$

If  $p \geq 1$ , then

$$2 < \left( \frac{x}{sn(x)} \right)^{2p} + \left( \frac{xdn(x)}{sc(x)} \right)^p < \left( \frac{sn(x)}{x} \right)^{2p} + \left( \frac{sc(x)}{xdn(x)} \right)^p, \quad (4.11)$$

where the second inequality in (4.11) is valid provided  $p > 0$ .

The second inequality in (4.11) has been established in [5, Theorem 3.3].

**4.2. Applications to Legendre’s elliptic integral F**

Let  $0 < \phi < \pi/2$  and let  $0 < k < 1$ . Legendre’s incomplete elliptic integral of the first kind is defined by

$$F(\phi, k) = \int_0^{\sin \phi} \frac{dw}{\sqrt{(1-w^2)(1-k^2w^2)}}.$$

It is well known that with  $x = F(\phi, k)$  one has  $sn(x) = \sin \phi$ ,  $cn(x) = \cos \phi$ ,  $dn(x) = \sqrt{1-k^2 \sin^2 \phi} =: \Delta$ ,  $sc(x) = \tan \phi$  and  $sd(x) = \frac{\sin \phi}{\Delta}$ .

Writing for brevity  $F \equiv F(\phi, k)$  we obtain the following using (4.10) and (4.11).

**COROLLARY 4.3.** *With the assumptions for  $p, q, \lambda$  and  $\mu$  as in Corollary 4.2 the following inequalities*

$$1 < \frac{\lambda}{\lambda + \mu} \left( \frac{\sin \phi}{F} \right)^p + \frac{\mu}{\lambda + \mu} \left( \frac{\tan \phi}{\Delta F} \right)^q \tag{4.12}$$

and

$$2 < \left( \frac{F}{\sin \phi} \right)^{2p} + \left( \frac{\Delta F}{\tan \phi} \right)^p < \left( \frac{\sin \phi}{F} \right)^{2p} + \left( \frac{\tan \phi}{\Delta F} \right)^p \tag{4.13}$$

are valid.

**4.3. Applications to circular and hyperbolic functions**

Some known inequalities involving either circular or hyperbolic functions can be obtained from (4.10) and (4.11). Letting  $k \rightarrow 0^+$  we have  $sn \rightarrow \sin$ ,  $sc \rightarrow \tan$ ,  $dn \rightarrow 1$  and  $K \rightarrow \pi/2$ . This yields the following.

**COROLLARY 4.4.** *With the assumptions for  $p, q, \lambda$  and  $\mu$  as in Corollary 4.2 one has*

$$1 < \frac{\lambda}{\lambda + \mu} \left( \frac{\sin x}{x} \right)^p + \frac{\mu}{\lambda + \mu} \left( \frac{\tan x}{x} \right)^q \tag{4.14}$$

and

$$2 < \left( \frac{x}{\sin x} \right)^{2p} + \left( \frac{x}{\tan x} \right)^p < \left( \frac{\sin x}{x} \right)^{2p} + \left( \frac{\tan x}{x} \right)^p \tag{4.15}$$

$(0 < |x| \leq \pi/2)$ .

Letting in (4.14)  $p = 2, q = 1, \lambda = \mu = 1$  we obtain Wilker’s inequality [15]. The same inequality becomes Huygen’s inequality [3] when  $p = q = 1, \lambda = 2$  and  $\mu = 1$ . Inequalities (4.15) appear in [5], [10], [17]. For related results the interested reader is referred to [16], [6] and the references therein.

The counterparts of inequalities (4.14) and (4.15) for the hyperbolic functions also follow from (4.10) and (4.11). Taking into account that  $k \rightarrow 1^-$ , implies  $sn \rightarrow \tanh$ ,  $sc \rightarrow \sinh$ ,  $dn \rightarrow \operatorname{sech}$  (see, e.g., [11, Ch. 22] we obtain the desired results. We omit further details.

The remaining two subsections of this section deal with bivariate iterative means of two positive numbers  $x$  and  $y$  ( $x \neq y$ ).

**4.4. Applications to Gauss’ arithmetic-geometric mean**

Throughout the sequel Gauss’ arithmetic-geometric mean of  $x$  and  $y$  will be denoted by  $AGM(x,y)$  or for brevity, by  $AGM$ . It is an iterative mean, i.e.,

$$AGM = \lim_{n \rightarrow \infty} x_n = \lim_{n \rightarrow \infty} y_n,$$

where

$$x_0 = x, \quad y_0 = y, \quad x_{n+1} = \frac{x_n + y_n}{2}, \quad y_{n+1} = \sqrt{x_n y_n}$$

( $n \geq 0$ ). See, e.g., [1], [2]. It is symmetric and homogeneous of degree 1 in its variables. It is well-known that

$$(xy)^{1/2} < AGM < \frac{x+y}{2}.$$

Assume that  $y < x$ . Letting  $u = AGM/x$  and  $v = AGM/y$  we see that  $u < 1 < v$ . Moreover, numbers  $u$  and  $v$  satisfy conditions (2.2) and (2.3) with  $\alpha = \beta = 1$ . The following result is an immediate consequence of Theorem 3.1 and Theorem 3.2.

**COROLLARY 4.5.** *Assume that  $\lambda > 0$  and  $\mu > 0$  and let  $y < x$ . If either  $q > 0$  and  $p \leq q\mu/\lambda$  or if  $p \leq q \leq -1$  and  $\lambda \geq \mu$ , then*

$$1 < \frac{\lambda}{\lambda + \mu} \left(\frac{AGM}{x}\right)^p + \frac{\mu}{\lambda + \mu} \left(\frac{AGM}{y}\right)^q. \tag{4.16}$$

If  $x < y$ , then the inequality (4.16) holds true if either  $p > 0$  and  $q \leq p\lambda/\mu$  or if  $q \leq p \leq -1$  and  $\mu \geq \lambda$ .

If  $p \geq 1$ , then

$$2 < \left(\frac{x}{AGM}\right)^p + \left(\frac{y}{AGM}\right)^p < \left(\frac{AGM}{x}\right)^p + \left(\frac{AGM}{y}\right)^p, \tag{4.17}$$

where the second inequality in (4.17) is valid provided  $p > 0$ .

Inequalities (4.16) and (4.17) imply inequalities involving Legendre’s complete elliptic integral  $K$  (see (4.1)). Let  $k' = \sqrt{1 - k^2}$  be the complementary modulus. Using the formula which connects  $AGM$  and  $K$ :

$$AGM(1, k') = \frac{\pi}{2K}$$

(see, e.g., [1]) together with (4.16) and (4.17) one can obtain inequalities involving integral  $K$ . We omit further details.

**4.5. Applications to the Schwab-Borchardt mean**

The Schwab-Borchardt mean of  $x \geq 0$  and  $y > 0$ , in the sequel, will be denoted by  $SB(x,y)$  or simply by  $SB$ . It is another iterative mean, i.e.,

$$SB = \lim_{n \rightarrow \infty} x_n = \lim_{n \rightarrow \infty} y_n,$$



where now

$$x_0 = x, \quad y_0 = y, \quad x_{n+1} = \frac{x_n + y_n}{2}, \quad y_{n+1} = \sqrt{x_{n+1}y_n}$$

( $n = 0, 1, \dots$ ). See, e.g., [1], [2]. It is worth mentioning that the mean under discussion is not symmetric in its variables, i.e.  $SB(x, y) \neq SB(y, x)$  if  $x \neq y$ . This mean has been studied extensively in [8], [9], and [7]. For future reference, let us record one result [8, Thm. 3.1]:

$$(xy^2)^{1/3} < SB(x, y) < \frac{x + 2y}{3}. \tag{4.18}$$

Let  $u = SB/x$  and  $v = SB/y$ . If  $y < x$ , then  $y < SB < x$  and  $u < 1 < v$ . It follows from (4.18) that inequalities (2.2) and (2.3) are satisfied with  $\alpha = 1$  and  $\beta = 2$ . The following result is an immediate consequence of Theorem 3.1.

COROLLARY 4.6. *Assume that  $\lambda > 0$  and  $\mu > 0$ . If  $y < x$ , then the inequality*

$$1 < \frac{\lambda}{\lambda + \mu} \left(\frac{SB}{x}\right)^p + \frac{\mu}{\lambda + \mu} \left(\frac{SB}{y}\right)^q \tag{4.19}$$

holds true if either

$$q > 0 \text{ and } p \leq q \frac{\mu}{2\lambda} \tag{4.20}$$

or

$$p \leq q \leq -1 \text{ and } \mu \leq 2\lambda. \tag{4.21}$$

If  $x < y$ , then the inequality (4.19) is satisfied if either

$$p > 0 \text{ and } q \leq p \frac{2\lambda}{\mu} \tag{4.22}$$

or

$$q \leq p \leq -1 \text{ and } \mu \geq 2\lambda. \tag{4.23}$$

A two-sided inequality involving mean  $SB$ , which also follows from Theorem 3.2, is established in [7].

To the end of this subsection we will deal with inequalities for the logarithmic mean and the first Seiffert mean. Recall that the logarithmic mean of two positive numbers  $x$  and  $y$  is defined as

$$L(x, y) \equiv L = \frac{x - y}{\log x - \log y}$$

( $x \neq y$ ). The first Seiffert mean of  $x$  and  $y$  is given by [12]

$$P(x, y) \equiv P = A \frac{z}{\sin^{-1} z},$$

where  $A$  is the unweighted arithmetic mean of  $x$  and  $y$  and  $z = (x - y)/(x + y)$ . It is known that

$$L = SB(A, G) \tag{4.24}$$

and

$$P = SB(G, A) \tag{4.25}$$

(see [8]). Here  $G$  stands for the unweighted geometric mean of  $x$  and  $y$ . Assuming that  $\lambda > 0$  and  $\mu > 0$  we obtain using (4.24) and Corollary 4.6 that

$$1 < \frac{\lambda}{\lambda + \mu} \left(\frac{L}{A}\right)^p + \frac{\mu}{\lambda + \mu} \left(\frac{L}{G}\right)^q \tag{4.26}$$

if either conditions (4.20) or (4.21) are satisfied. Similarly, using (4.25) together with Corollary 4.6 we arrive at

$$1 < \frac{\lambda}{\lambda + \mu} \left(\frac{P}{G}\right)^p + \frac{\mu}{\lambda + \mu} \left(\frac{P}{A}\right)^q \tag{4.27}$$

which is valid if either conditions (4.22) or (4.23) are satisfied.

Two other iterative means which can be derived from the Schwab-Borchardt mean are the second Seiffert mean [13]

$$T(x, y) \equiv T = A \frac{z}{\tan^{-1} z}$$

and

$$M(x, y) \equiv M = A \frac{z}{\sinh^{-1} z}$$

(see [8]). It has been demonstrated in [8] that

$$T = SB(A, Q) \text{ and } M = SB(Q, A),$$

where  $Q$  stands for the unweighted power mean of order 2 of  $x$  and  $y$ . Means  $M$  and  $T$  are comparable and they satisfy  $A < M < T < Q$ . Inequalities similar to (4.26) and (4.27) can be easily obtained using Corollary 4.6. For more inequalities involving the Schwab-Borchardt mean and four subordinate means  $L, P, T$  and  $M$  the interested reader is referred to [7].

**Acknowledgments**

The author is indebted to an anonymous referee for constructive remarks on the first draft of this paper.

REFERENCES

[1] J. M. BORWEIN, P. B. BORWEIN, *Pi and AGM: A Study in Analytic Number Theory and Computational Complexity*, John Wiley and Sons, New York, 1987.  
 [2] B. C. CARLSON, *Algorithms involving arithmetic and geometric means*, Amer. Math. Monthly **78**, (1971) 496–505.  
 [3] C. HUYGENS, *Oeuvres Completes 1888–1840*, Société Hollandaise des Science, Haga.  
 [4] D. F. LAWDEN, *Elliptic Functions and Applications*, Appl. Math. Sci., vol. 80, Springer-Verlag, New York, 1989.

- [5] E. NEUMAN, *One- and two-sided inequalities for Jacobian elliptic functions and related results*, Integral Transforms Spec. Funct. **21** (2010), No. 6, 399–407.
- [6] E. NEUMAN, *On Wilker and Huygens type inequalities*, Math. Inequal. Appl., **15**, 2 (2012) 271–279.
- [7] E. NEUMAN, *Inequalities for the Schwab-Borchardt mean and their applications*, J. Math. Inequal. **5** (2011), No. 4, 601–609.
- [8] E. NEUMAN, J. SÁNDOR, *On the Schwab-Borchardt mean*, Math. Pannon. **14** (2003), No. 2, 253–266.
- [9] E. NEUMAN, J. SÁNDOR, *On the Schwab-Borchardt mean II*, Math. Pannon. **17** (2006), No. 1, 49–59.
- [10] E. NEUMAN, J. SÁNDOR, *On some inequalities involving trigonometric and hyperbolic functions with emphasis on the Cusa-Huygens, Wilker and Huygens inequalities*, Math. Inequal. Appl., **13** (2010), 715–723.
- [11] F. W. J. OLVER, D. W. LOZIER, R. F. BOISVERT, C. W. CLARK, (EDS.), *NIST Handbook of Mathematical Functions*, Cambridge Univ. Press, New York, 2010.
- [12] H.-J. SEIFFERT, *Problem 887*, Nieuw. Arch. Wisk. **11** (1993), 176.
- [13] H.-J. SEIFFERT, *Aufgabe 16*, Wurzel **29** (1995), 87.
- [14] E. T. WHITTAKER, G. N. WATSON, *A Course in Modern Analysis*, 4th ed., Cambridge Univ. Press, New York, 1990.
- [15] J. B. WILKER, *Problem E 3306*, Amer. Math. Monthly **96** (1989), 55.
- [16] S.-H. WU AND H. M. SRIVASTAVA, *A weighted and exponential generalization of Wilker's inequality and its applications*, Integral Transforms and Spec. Funct. **18** (2007), No. 8, 529–535.
- [17] S. WU AND A. BARICZ, *Generalizations of Mitrinović, Adamović, and Lazarević's inequalities and their applications*, Publ. Math. Debrecen 75/3–4 (2009), 447–458.

(Received April 19, 2011)

Edward Neuman  
Department of Mathematics  
Mailcode 4408, Southern Illinois University  
1245 Lincoln Drive  
Carbondale, IL 62901, USA  
e-mail: edneuman@siu.edu